
February 5, 1992 WOCOMAL VARSITY MEET

ROUND I: Combinations and permutations

ALL ANSWERS MUST BE EXPRESSED AS POSITIVE INTEGERS

1. How many lines are determined by 7 points, no three of which
are collinear?

2. If a registratioft number consists of 2 letters followed by
\\ digits, how many such numbers can be formed if the letters
0 and I are not used and the digits cannot all be zero?

3-Using each of the 5 letters in the word PRIZE, how many
5>-letter permutations can be formed that do not begin with
P and do not end with Z?

ANSWERS

(1 pt ) 1.

(2 pts) 2.

(3 pts) 3.

Auburn, Clinton, Millbury



F e b r u a r y 5 , 1992 WOCOMAL VARSITY MEET

ROUND I I : A lgeb ra 1 - open

ALL ANSWERS MUST BE EXPRESSED IN SIMPLEST EXACT FORM

/, / / IO?~ y = % } Utn whai is He value of 20X-5 ?,

2. When the armored truck kit a hump, 6 h&j filled u>/fh 220

Coins consisting of MckeU, climest cod ^Meters fell oot. If there

kicrt iuue as n\4n<j dimes <S* nickels and fairly fewer furriers

than dimes in tie b*^ UJU I»MS tic h±al amount »f Mney in

4 , 6-ivc your

3 The ^yohcot of f^o cansecuh^c^ positive- even tnHjirs can ke

'tieo a5 fa 4 —I— where k u ao /ni^fcr, £-,))J He
\60 "

Som of i^cse tv° CCKSecutivt even integers.

ANSWERS

(1 pt) 1.

(2 pts) 2.

(3 pts) 3.

St•John's, Tantasqua, West Boylston



February 5, 1992 WOCOMAL VARSITY MEET

ROUND III: Logs, exponents, radicals

ALL ANSWERS MUST BE EXPRESSED IN SIMPLEST EXACT FORM

/. S oi)°\ - r V.000009 •=

2 So\\Je -for

J?6C,
J a

3 + i - A 2 - J0* <t = O

3

>e nOften(al Value of

ANSWERS

(1 pt) 1.

(2 pts) 2.

(3 Pts) 3-

Algonquin, Doherty, Leicester



February 5, 1992

ROUND IV: Parallel lines and polygons

ALL ANSWERS MUST BE EXPRESSED IN SIMPLEST EXACT FORM

WOCOMAL VARSITY MEET

) fjt a,iJ C are

d Jj \S art eyu

regular

GRIN , U a,\J v/

ANSWERS

(1 pt ) 1.

(2 pts ) 2.

(3 pts) 3.

St. John's, West Boylston, Worcester Academy



February 5 , 1992 WOCOMAL VARSITY MEET

ROUND V: A n a l y t i c geometry of s t r a i g h t l i n e s and con ies

ALL ANSWERS MUST BE EXPRESSED IN SIMPLEST EXACT FORM

/ How many pairs ${ real nuwfaerr [¥>[)) Shyvrtaneovtlu

boTh &f TneJe £<^ua

2- . o ,, 2 _ if

X, f\n\boa jipt (ines uhich /W<? ^ <j-intercept ai -5^

of ~tf)dSe U/VA f\A\/e -X- i ti siooe, .

the

0

a

arch

f HO fret. a f>o<nt 5 feet
£ pcKf\

ANSWERS

(1 p t ) 1 .

(2 pts) 2.

(3 Pts) 3. fee*

Auturn, Hudson, L e i c e s t e r



Februa ry 5 , 1992 WOCOMAL VARSITY MEET

TEAM ROUND: T o p i c s of p r e v i o u s rounds and open

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM AND
ON THE SEPARATE TEAM ANSWER SHEET 2 points each

/ find Y\ if 7- a? 5 - nP3- <? P3 ,

X, If a i l - 3 , f/nd He value ,f al

3 f - /
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f
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/

—

3
glangles arc

Here //» ih /f

5 A Stm,3ht Hoe - j
H\c codMitxah axes a

(3tl)
-fom -for**

(3.5,

lr\ right ina^le AcB, ZF\ i\ He toed Ian ~fo

mLj\ - &0° and AS - 11 ,

(in e Cdi\ M ("oinej C M,

7 nod ~H\tz aifi'r X

8

33.
32X2X

(f (j > 2-X < )n i0) ojfff

ti

Jabn Bee decs not knovj f))au arc inn 1** ddncz

Of

he has Twice c?f

si sf /
l/)oys .

M«/>tj

Algonquin, Bromfield, Doherty, Marlboro, St.John's, Shrewsbury,
Tahanto, Worcester Academy
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